A #L = 2 =
A # B B TRE 2447 B 4 B 10:00~ IBTER Hh 1o B (28
I = £ NHTKESHEEIB(24-3) TF
I % 15 fr (LWFEEXE F #FHEMb A
e 2 B B |BERNERSIZNFEAEZNICEIIEEATRFAILSNEOIELAEEI TR OEEL2EIT-.
HHEEBAH) 6,478,500 FE M ERE) 7,591,000 BAE FI PR M5 (Fi k) 6,130,000
e = A #H & (FH) % FL £
50
_?a%%%‘%(amﬁ) % 1 5 = 2 O % 3 E ==
74T 1BAFEE) 7.400
L% 7,770|
GEEF S 6,170 6,170]
BARFH 7,500
IR AR 7,830
BT HER 7.530
B 7,500
REEM® 7,546
BXRE iR
EEHNER 7,400
(CESUEEE B
b a0 7,700
P—— Fae X2 R FRad RLEag W # H H | FR24&7H10H
& A B KB KF#EK09-4-8 I BGEF) TRk 245 78 16 A
BRURUISEE HESIET 1600.0m T Bi(=R) TRk 24 &9 A 18 B

fi5 % : AFLEBCEALER) [CHFEBDS%ICHE T HEHEMELL-SEIEE LD ALBIECEILER) THD.




